Very Short Answer Questions

1. 'I.'."h|c'|| constant  should be added and subiracted o solve the quadratic cqualions
fix® =J2x + 3 = 0by the method of completing the square?
2. What is the value of k for which 3 is a root of the equation k" =Tx+3=(F
3. Ifthe equation 16x* + Bkx + 4 = 0 has equal roots, then what is the value ol k2
4. Ifax? + bx + ¢ = 0 has equal roots, then what is b equal 1o?
5. What can be said ahout the quadratic equation x* —5x + 3 = (%
6. What are the roots of the equation x* =tk + 20 = 0?
7. What is the value (s} of k for which the equation kx® —hx +1=0has equal roots?
8. I[ the roots of the equation (a* + b*)x? = 2a + )x +{b* +¢*) = Dare equal, then B =3
9. What is the discriminant of the quadratic equation 33 + 10c + VI =02
10. Write a quadratic equation which has the product of two roots is 5.
Shorl Answer Questions-1
11. For what value of k, -2 is a root of the equation 3x° + dx + 2k = 07
12. What is the nature of roots of the quadratic equation 4x* -12x -9 = 0?
13. Write the discriminant of the quadratic equation ‘—;xg —3x+5=0
14. Find the value of p 50 that the quadratic equation px {x—3) + 9 = 0 has equal roots.
15, Find the discriminant of the qu.:ldmlic cruation: 4x* -~—3-:|.* _liﬁ

State whether the following quadratic equations have two distinct real rools or not. Justify your answer.
(Q. 16 10 19)

16. 2*+x-1=0 17. (x +4)* —8x =0

18. (x=v2)2 =Zx+N =0 19. JE:*—T“T_G

20. Does a quadratic equation with integral coefficient has integral roots? Justify your answer.
21, 1s 0.2 a root of the equation x* — 0.4 = 0?7 Justify.

22,

23.
24.
25.
26.

Il the coefficient of x* and the constant term have the same sign and if the coefficient of x term is
zero, then the quadratic equation has no real roots. State true or false and justify your answer.

For what value of k does the equation x? +2¢+ (k" +1) =0 has real and cqual roots?

Find the value(s) of % for which the quadratic equation (k + 4% +(k+x +1=0 has equal roots.
Find the value ofk for which the quadratic equationk*x* — 2(2k —1)x + 4 = Ohas real and equal roots.
Write the condition to be satisfied for which equation ax? + 2bx + ¢ = Dand kx? —2aex + b = D have
equal roots.

27. If equation ax® + bx + ¢ = 0 has equal roots, then find ¢’ in terms of ‘" and *b".
Short Answer Questions—il
Find the roots of the following quadratic equations using the quadratic formula (Q. 28 to 3i):
2B. 324 6x+12=0 29, x? -3J/Bx +10=0
%0. %:E—er:+l=ﬂ 31. Ga%x? -7abe -3 = 0,0+ 0
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